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Verity

'A[] CYM.FAIL imply money_sum < coffes_value
&[] CYM.OFFER_T imply USER. = <= 10

A1 CYM.OFFER_2 imply USER.» <= 10

4[] CWM.OFFER_3 imply USER.x <= 10

4[] CVM.OFFER_4 imply USER.x <= 10

A[] CWM.REFUND imply USER.x <= 10

A1 DISPLAY . W_T00 imply money_sum == |
A1 DISPLAY W_Z200 imply money_sum == 2
A1 DISPLAY W_300 imply money_sum ==
A1 DISPLAY W_400 imply money_sum ==
A1 DISPLAY W_B00 imply money_sum ==
A1 DISPLAY W_G00 imply money_sum ==
A[] DISPLAY W_700 imply money_sum ==

]
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o
AL] DISPLAY.W_B00 inply money_sun == O
O
O
O
O
O
O
O
L]
O
L]
O
o

A[] DISPLAY W_900 imply money_sum ==

a1 OFSPLAY W_1000 imply money_sum == 10
A1 CWM.OFFER_T imply FIMISH_LED, 0N

4[] CVM.OFFER_Z imply FIMISH_LED. 0K

A1 CWM.OFFER_3 imply FIMISH_LED, 0K

4[] CVM.OFFER_4 imply FIMISH_LED. 0K

4[] not USER.START && CVM.OFFER_1
&[] not USER.START && CWM.OFFER_Z
4[] not USER.START &% CWM.OFFER_3
4[] not USER.START && CWM.OFFER_4
&[] not money_sum = 10

&[] not deadlock




